Subject: How to avoid BSQ?
Posted by ivitseva on Mon, 11 Jan 2010 18:37:03 GMT

View Forum Message <> Reply to Message

Please excuse my ignorance, but can somebody explain me the rules when
and why Envi creates BSQ instead of BIL? In case | wanna avoid a BSQ,
do | have to write an IDL script and define there that the outcome

should be BIL? For instance, I've just done a simple addition of two

integer BIL images, why is the outcome a BSQ file? Do | have to write

a script each time | do these calculations? Thanks in advance, Eva.
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